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Note: (i) There are in all 26 questions in this question paper. All questions are compulsory.

(ii) Marks allocated to every question are indicated against it.

(iii) Question Nos. 1 to 10 are very short answer type questions carrying 1 mark each. Answer to
each of these questions should not exceed 20 words. Question Nos. 11 to 20 are short answer
type questions carrying 3 marks each. Answer to each of these questions should not exceed 80
words. Question Nos. 21 to 25 are long answer type questions of 5 marks each. Answer to
each of these questions should not exceed 150 words. Question No. 26 is related to identification
or locating and labelling of geographical features on map.

(iv) Outline maps of World and India provided to you must be attached within your answer book.
(v) Use of templates or stencils for drawing outline maps is allowed.

(vi) Start from the first question and proceed to the last. Do not waste time over a question if you
can not solve it.
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1. faw@ & ggs i u<eil & <1 9YEl & AR 9agy |

Name the two categories of major industrial regions of the world.

2. OSBRI B & Whead YR HY drel S Bl TH qa1sy |

Name the country where co-operative farming has successfully introduced.

3. grior fauve @ @ oy S|

Define rural-marketing centre.

4, i azaRas Y& anf @1 far il

Write the extension of Trans-Siberian Railway.

5. W AR BT UREIET B |
Define Mega City.

6. WRd @ fbsl Q1 siaxisiia gard srsel @ 1M T |

Name two international airports of India.

7. ¥ & AR & ufaey Wa HEf Ul 9 8 7

Where are terraced pattern of fields found ?

8. URd ® W ATITal & g H garsd |

State the major imports of India.

9. YRA ® UD RIdds A & T9H daisd |
Mention one land-locked port of India.

10. O UGNYT 3 B drefl &f IRl & W qarsgd |

Name two diseases caused by water pollution.

11. G e &1 gRErET i |
Define human geography.

12. 9o Y @ g fFEwa g |

Mention the main characteristics of plantation agriculture.

13. TR <E H g Sred o W g a1 Seora S |

Describe the main characteristics of dairy farming in European countries.

14. IR RG H wue siftErl @ v et o1 fagver g |

State the main characteristics of compact rural settlement in India.

15. fw@ @mR # Wo 7% @1 4rifoe 98 qargd |
Give geographical significance of Suez canal in the world trade.

16. g9f Wel HUBY Bl IYAATr qarsy |

Explain the importance of rain water harvesting,
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17.

18.

19

20.

21

22

23.

24.

ARG & THE DIl SAEH &3 @1 [daxor R | 3

Describe the main coal producing areas of India.

B & 7S AT FT eI SR TUT IY T T BT TR Ao 1%+1% =3
ARd & §9 sl § 9% T g AR R fown-

Riip| dore | 2RETT | SR U W URy| SAicd | IR | TR
gé ?;_i!g gy | 420 3621 | 17232 | 19102 | 10533 .| 15429 | 18036
Fﬁfﬂ?—f ) aw 88.5 64.8 58.8 17.5 17.2 15.7 10.5

() S XY @ T aATSY WET AeR) T e R eRil & | $HBT SR AR |
(@) B Xoat B A qIEY SR Aesi g RiEE F9 8kl 8 | 39T HRT <A |

Study the given table and answer the question that follows—
Net sown area and extent of irrigation in some states in India—

States Punjab | Hariyana| U.P. | M.P. | Karnatak|Rajasthan | Maharashtra
Net Sown Area
: 4202 3621 | 17232 | 19102 | 10533 15429 18036
(in hectares)
Net Irrigated area 2
88.5 64.8 58.8 Ji-5 372 15.7 10.5

(in percent)

(a) Name the states where maximum irrigation is done by canals. Give the reasons for the same.
(b) Name the states where lowest irrigation is done by canals. Give the reasons for the same.

gare @ e, SEifeerd vd gataweiiy uRemEt @1 Seerd Hifoy | 3
Mention the social, demographic and environmental consequences of migration.
T B ol et § wed tRaed @ YT & WE BT | 3

State the role of road transport in the economic development of India.

freg 95 o @ FoRer U g9 @) wifad exe arel Iifeie SR @ @R DI | 5

Describe the geographical factors responsible for the distribution and density of world population.

ST AUR § Y DY AR I BN & 7 5

How do nations gain from International Trade ?

ﬁwﬁﬂﬁraﬁm$wﬁwﬁmﬂﬁﬁmﬁmﬁaﬂﬁﬂﬁﬁmﬁﬁmwﬁ
I SaTed B THE & Bl qangd |

Explain the factors responsible for localization of cotton industry in the world and mention the major
areas of cotton manufacturing.

T afaal o wRwiia ST qen SRl & MR IR RIS B0 SRgd B |

Define urban settlements and give classification of towns based on their function.
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25, WInd # sienfie e 3 sarliew, Mofia i dediawr o syfer & avf= @i s

Explai
India.

6. (@)

{A)

(B)

n the role of liberalisation, privatisation and globalisation in the industrial development in

fed T fagg & oIS YT A H AR T2 (D), (i), (i), (iv) & SU § gy Ty
g | R T TS E @ SR W a2l ©f 9ganay o AeE | i waEr w eqet
e A foHERT— Vixd=2
(i) BfRTEr &1 TE TR

(i)  SI 1 W SHTElie ds

(ii) qHED WY SR elel WY Pl Aar drell ex

(iv) TRI-WTEORIE Yed &1 gdi efiqa TR

frifea & YRG @ 28 T3 Torad YEr aefEs 1 g9y a7 99 @I @1 A0 9l
forfiga— 3
(i) ST @7 U Ayl dd IAEd aF

(i) ARG @ T 921 Y Hegel

(i) TS fHTen B WRPR & T A WU U S3d {3

In the given outline pelitical map of the world four features are shown by (i), (ii), (i11) and (iv).
Identify the features with the help of the information given below and write their correct
names on the line marked on the map —

(i) A Mega City of Mexico

(11) Major industrial centre of Japan

(iii) The connecting canal inbetween the Mediterranean sca and the Red sea

(iv) Eastern terminal city of Trans-Siberian Raibway

Locate and label the following in the given outline political map of India and write their
names also —

(i) One important oil producing arca of Assam

(i1) Biggest Urban Agglomeration of India

(iit) A steel plant set up with the collaboration of government of United Kingdom

e : gfeds whenfefal 3 yed e 26 & I WX 8 |

Note : For blind candidates in licu of question no. 26.

fr=ferfigg uef @ wav Sifor— %5 = 5§

(i)
©
(iii)
(1v)
(v)

favg # Imw oY & ged &= & AW 9q9Ed |

AgTa wE & yHE e &85 & T aaed |

petea tfyfhe vad @ ufted effaa 7= &1 9 gasd |
TJTRIEvE @ v Senfiie R @7 A qagd |
R @ WA 11 I1Ed od &l A0 gy |

Answer the following questions

(1)
(i1)
(iii)
(iv)
(v)
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Name the world’s largest region of plantation agriculture.
Name the principal industrial region of Soviet Russia.

Name the western terminal eity of Canadian Pacitic Railway.
Name one industrial city of Uttarakhand.

Name the state of India leading in sugarcane production.
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